Ćw_2 – Realizacja układów kombinacyjnych
Zadanie 2 - multiplekser
library ieee;

use ieee.std_logic_1164.all;

entity zad_2c is

  port 

  (

  x0,x1,x2,x3,x4,x5,x6,x7,y0,y1,y2,y3,y4,y5,y6,y7,s : in std_logic;

  m0,m1,m2,m3,m4,m5,m6,m7 : out std_logic

  );

end zad_2c;

architecture inne of zad_2c is

begin


m0 <= (NOT (s) AND x0) OR (s AND y0);


m1 <= (NOT (s) AND x1) OR (s AND y1);


m2 <= (NOT (s) AND x2) OR (s AND y2);


m3 <= (NOT (s) AND x3) OR (s AND y3);


m4 <= (NOT (s) AND x4) OR (s AND y4);


m5 <= (NOT (s) AND x5) OR (s AND y5);


m6 <= (NOT (s) AND x6) OR (s AND y6);


m7 <= (NOT (s) AND x7) OR (s AND y7);

end inne;

Zadanie 3 - konwwerter

library ieee;

use ieee.std_logic_1164.all;

entity zad_3 is


port 


(



c,d : in std_logic_vector(2 downto 0);



hex1,hex2 : out std_logic_vector(6 downto 0)


);

end entity;

architecture litery of zad_3 is

begin


with c select


hex1 <=
"0001001" when "000",




"0000110" when "001",




"1000111" when "010",




"1000000" when "011",




"1111111" when others;

with d select -- kolejny segment

hex2 <=
"0001001" when "000",




"0000110" when "001",




"1000111" when "010",


 

"1000000" when "011",




"1111111" when others;

end litery; --komentarz do końca linii 

